                                                        ASSIGNMENT – 10                                        [ UNIT – 10] CLASS – V                                     SUBJECT-MATH                              ROLL NO. ________        
1Q.Add:
       (a) 2·39 + 9·58         (b) 125·37 + 9·9       (c) 7954 + 25·2 + 691 + 8·365
2Q.Subtract:
      (a) 7·2 ─ 4·9             (b) 555 ─ 242·99      (c) 876·23 ─ 368·89
3Q.Multiply:
      (a) 0·8 × 5             (b) 13·67 × 8           (c) 0·67 × 14           (d) 21·13 × 26         (e) 5·245 × 321
      (f) 3·45 × 300    (g) 0·5 × 2·9     (h) 2·74 × 5·68       (i) 6·027 × 3·214        (j) 2·74×1·53×0·32
4Q.Divide:
     (a) 25·2 ÷ 7         (b) 121·84 ÷ 8        (c) 477·296 ÷ 4      (d) 510·384 ÷ 14    (e) 2130·625 ÷ 25
     (f) 65·50 ÷ 20     (g) 253·8 ÷ 600      (h) 0·714 ÷ 21        (i) 800 ÷ 160          (j) 0·5 ÷ 0·025
5Q.Convert into a decimal fraction:
       (a)                  (b)             (c)             (d)              (e) 2          (f) 
6Q.Fill in:
     (a) 32·48 × 10 = __    (b) 213·451 × 100 = __   (c) 0·63 × 1000 = __   (d) 8·234 × 1000 = __
     (e) 52·554 ÷ 10 = __  (f) 0·6 ÷ 100 = __           (g) 73·25 ÷ 1000 = __  (h) 0·4 ÷ 10 = __
     (i) 3·5 × 28 = 28 × __    (j) 0 × 5·7 = __            (k) __ × 3·25 = 3·25     (l) 4·17 × __ = 0
7Q.Sumit had Rs.1000 with him.He bought rice for Rs.345, sugar for Rs.200 and wheat flour for 
       Rs.290.How much money was left with him after purchases?
[bookmark: _GoBack]8Q.Find the cost of one pen if the cost of a dozen pens is Rs.276
 
